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QUESTION 1

Your company wants to use public cloud for data analytics and they want to use the most competitive cloud provider at
any given time.

In this scenario, which NetApp solution would store data near multiple public cloud providers?
A. Cloud Volumes ONTAP

B. NetApp HCI

C. Azure NetApp Files

D. NetApp Private Storage

Correct Answer: D

QUESTION 2

What are two methods to subscribe to Cloud Insights? (Choose two.)
A. NetApp Cloud Central

B. NetApp Sales

C. NetApp Support Site

D. AWS Marketplace

Correct Answer: BD

QUESTION 3

Which Cisco-validated design (CVD) is built upon the Cisco Unified Computing System (Cisco UCS), the Cisco Nexus
family of switches, and NetApp storage controllers (FAS or AFF)?

A. FlexPod

B. HCI

C. E-Series

D. StorageGRID

Correct Answer: A

QUESTION 4

Your employer asks you to develop an off-site data replication strategy that maintains ONTAP data efficiencies for the
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home directory data.

Which two solutions satisfy this requirement? (Choose two.)
A. NetApp Private Storage

B. MAX Data

C. Cloud Volumes Service

D. Cloud Volumes ONTAP

Correct Answer: AD

QUESTION 5

Which two statements describe the benefits of using public clouds? (Choose two.)

A. Applications are always less expensive to run in the public cloud.

B. Public clouds are always used for hosting tier 1 and financial applications.

C. Public clouds provide an environment for development, testing, and disaster-recovery applications.
D. Public clouds support multi-regional applications without the expense of collocating data centers.

Correct Answer: CD

Latest NS0-002 Dumps NS0-002 PDF Dumps NS0-002 Practice Test

Latest NS0-002 Dumps | NS0-002 PDF Dumps | NS0-002 Practice Test 3/3


https://www.pass4itsure.com/ns0-002.html
https://www.pass4itsure.com/ns0-002.html
https://www.pass4itsure.com/ns0-002.html
http://www.tcpdf.org
https://www.pass4itsure.com/ns0-002.html
https://www.pass4itsure.com/ns0-002.html
https://www.pass4itsure.com/ns0-002.html

